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PAPER CODE - 8191
MATHEMATICS 12" CLASS - 12019 TIME: 30 MINUTES
GROUP FIRST OBJECTIVE MARKS: 20

NOTE: You'have four choices for each oh_]ectwe type question as A, B, C and D . The choice which
~youthink js correct , fill that circle in front of that question number. Use marker or pen to fill
; the: cn::le&. C.umng nr filling two or mare circles will result in zero mark in that question.
QUESTION NOu1 1.
(ay' " IE ft—xﬁ = = f(x), then f(x) is called ;
_ (A) 'Linear function (B) Parametric function (C) Even function (D) Odd function
) " lim  1-cospd
8 =0 1t+cosps

Ay 1 o (© -1 @ 2
@ Mmool o,

x—a x—a
- (A) f(a) (B) f(x) (€ £(0 (D) fix}
(4) The derivative of &¥"*  w.r.t x will be equal 10
' (Ayec*£* (B)e""* (C) "™ cosx (D) einE sin ¥
(5) '—msh{lx} equals
(A) 2 sinh2x (B) -2sinh2x (C) Zsioh x (D)-2sinh x
(6)  Second term in Maclaurin Series expansion of f(x)=e* equals
o1 @ ©x O A
UE f,—dx' -a<x<a; eqguals

(A) cos’ (-)§ +¢  (B) sin” (i) +c (O %cos" (E) +¢ (D) ésin" GJ fe
(3} . l "r 1+casx - k
@y eot(2) +e B cot(d) +c ©@tan(Z) +e (Dytan(i)gkc
(90 1 f (5x* - 3x7 + 1)dx yiate
EroriA) 1 (B) 2 (C) 0 o 3
(i) ':_If'xaj—)mﬂ then vy equals

! ©cex ©@ -
Jllllkf \":-Efdistanoe bctwccn two points (3,13 and (k, 2) 415 3" gthen value of * k' will be
oWy o ® 33 © 1 MR
(12)  Slope —intercept form of line will be
W ialel (B xcosguhaEPR (©) yon = mlxx) (©) y=mxe
(13) Iftheline E + f = | is parallelde the line 3x -2y +4 = 0, then value of “a® equals
A2 B2 ©M% o4
(14) The point of intersegtionof two linesx -2y +1=0 and x +3y-4=0is
(A) (-1,-1)g @) (|, 17 ©) (1,1) (@ (1,-1)
(15)  Feasible regionlof iequalities is always restricted to the quadrant
A I oW ©m D) Iv
(ié} The equation, of directrix of parabola y? =4ax will be equal to
) ae0V (B) y—a=0 (C) x~a=0 (D)x+a=0
(173 Ifthe Jige 6 x +4}r+c 0 passes through the centre of circle x* + y° + 2x+3 =0,
then value of ‘¢’ will be
(&) -6 B 6 (© 4 (D) 4
(18) The co-ordinates of vertices of hyperbola 5:- - £=1 will be .
L., GA). €0, E3) @y (3.0} (&) (0,i23 D) (x2,0)
{_1'9) _ The aten of triangle with a and b asits ad;ace.m sides equals
W Flaxe] @ zlaxk| © s{axb) M 2(ax)

20y I a and b are two non zeros vectors th::ulhcanglc bctwccna and @ %X b equals
e L 3

':(A)'f: mIo: ©F

equals

dx equals
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SATHEMATICS . 12%CcLASS -12019 _ TIME : 2.30 HOURS
GROUP FIRST SUBJECTIVE MARKS : 80
/ SECTION-I
QUESTION NO.2 Write short answers any Eight (8) questions of the following 16
| |Given f(x) =x’-2x*+4x -1, find the valueof f(l+x)
2 lim i-cosé
Evaluate g0 ey
3 | _rx+2, x=-1 p lim
.Iff(nl:)—[c_f_z‘ 25T, Fd ST (Y
4 | Find g{ if vy =(2+5) G +T)
5 |Find 2 if Y+ .ax =5
6 | Differentiate (1+x9)" wurt x° =
{7 ] Differentiate w.r. tx cos’ E
8 | Define stationary point of a function.
9 g Y =
Find == If y= Intanhx
10 Find L if y= Vx+vx
{11 Find%if ¥ =X cosy
12| Findy; if x*+y =a’
QUESTIOH NO.3 Write short answers any Eight (8) questions of the following L 16
Il |Find §y if y=x"+2x when x changes from2 to 1.8 i
2 | Use differentials ,find the approximate value of ¥17
3 | Evaluate [ 3% dx
{4 | Eva s
ey 5!_::?-"?@“3?"& '} J" (WX +1 dx ,x>0
Li | Evaluate | — dx
R g%
[ Evalvate [ pT]
4 E_\"E_lf'_l.}a'(e J“.«:iru:m sinx dx - ==
8 emantx
: [Evalusts; { Sapen - x
9 | Write fundamental thearem of calculus i
10 Bvaluate 7] (x* + 3x?) dx ;
11 |'Define Problem constraints .
1-2' Graph the solution setof 2Zx+ 120
QUES‘TI(}N NO 4 Write short answef any\Nine (9) questions of the following 18

I

Shi'w that for the points A( 3,134 B{-2,-3)and C(2, 2), |AB| =B(|

2

.The lenigth of pegpeidiculanfrom the origin to a line is 5 units and the inclination of this

perpendicular is,[20°, Find the slope and y, intercepts of the line.

L)

‘Find distance®rom the point P(6,-1) to the line 6x —4y +9 =10

-

Determing the value of p, such that the lines 2x -3y —-1=0, 3x—y~5=0 and
3x#P¥t3 =0 Jafe concurrent.

Find an equation of the circle having the join of A(xy, y1) and B(xz, y2) as a diameter.

| Findithe focus and directrix of the Parabola y* = 8x

| Find eccentricity of the cilipse 4 x* + 9y" =36

| Find the points of intersection of the conics x* +y* =8 andx“ -y =1 .

"Prove that the vectors [-2] + 3k ,~2[+3]-4k and [- 3]+ S5k are coplanar.

o = 2 1 R R

Uid+b+ ¢ =0 thenprovethat dxb =hx & =Zx

| Calculate the projection of Galongbwhen = 31+j-k, b=-21-j+k

— '—‘_-
]

Deefine scalar and vectar product of two vectars.

w

Define a unit vector. D
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Note: Aﬁempt any Three questions from this section C10x3=30
Q5 (W) | proversar ' (142)" ¢
n—o n
. n? B,
(B) | Show that cos{x +h} = cosx—h sinx - o cosx*; SINX + eivieen
| Also evaluate cos 61°.
G- (A dx Xx+a>0 ¥ A ’
Q& (A) | Bvaluate [ == 11030
(B) ThcpmmsA( -,2), B (6 3) and C(2,4) a.rcvemcas of a friangle’ showthanhehne;ummg
= & nildpo:m D of AB and midpoint E of AC is paraflel to BC and DE = - BC
Q.7-(A) | Solve the differential equation x dy + y (x-1}dx =0
(B) | Graph the feasible region of the system of linear inequalities and find the corner points
-y <6, 2x+Fy <12, xz20, y20 L
Q.8-(A} | Find the co-ordinates of the vertices of the wriangle formed by the lines:
X-2y-6=0; 3x-y+3=0; 2x+y-4=0
| :Also find measures of the angles of the triangle.
(B) | Find equation of the tangent to the circle x> +y* =2 m@m line3x +2y=6
Q.9-(A) _Show that the equarion Ox* - 18 x -4 v+ 8 ~23 = resents an ellipse. F_ind its centre ,
| foci and eccentricity . ' b '
(B) | Prove that four points A (-3, 5 E@ 1) ,C(-1,2,2)and D(-3,4,-5)are
coplanar, i : .
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